XH24.7 9E REXBIRED—HREICIYNEANZEH-AO - HFEHK
(H29.7.31 IR JATERET & (K=F) B F Al A O 5 (55

AT (AF) 2—F fTIRAT (KF) £ HEH 0(FK) 1 2 3 4
10 HHHT 138 3 3 2 3 0
20 fE&ELHT 151 2 1 3 2 2
30 AT 238 3 1 0 2 4
40 LRHET 112 1 1 0 0 1
50 AET—TH 310 1 3 1 2 1
60 KET=TH 212 8 7 8 4 4
70 RET=TH 290 3 1 4 7 2
80 ¥AT IR AT 34 0 0 0 0 0
90 FENIIRET 203 3 2 1 3 2

100 At FLET 116 3 3 3 2 3
110 2T HT 1055 27 17 31 18 31
120 T AHET 184 5 5 4 2 4
130 H M7 340 5 7 1 4 8
140 L [E|ET 55 0 0 0 0 0
150 4&F #rHET 327 16 6 8 13 11
9999 R IGHX &t 3765 80 57 66 62 73
510 AETEUT B 405 7 5 8 7 6
520 HpEEMT 118 3 2 6 3 5
530 /\t&EHT 235 1 3 1 1 2
540 15 EHT 390 4 5 4 2 4
550 FrithET 330 3 3 3 5 3
560 = ZEfT 108 1 1 0 0 0
570 EEHRT 62 2 1 2 1 1
580 #rEAHET 135 2 2 3 3 2
590 FriEHET 70 0 0 0 0 0
600 ZERHAT 549 9 9 15 12 7
610 J&HT 174 1 1 1 4 1
620 FAET—TH 2 0 0 0 0 0
9999 J/\ KXt 2578 33 32 43 38 31
1010 3R HHT 160 5 2 0 6 3
1020 _E S HT 283 4 13 7 6 8
1030 = FrHT 244 7 3 8 5 5
1040 75 FHT 446 12 22 20 11 17
1050 & HHET 521 14 6 8 17 17
1060 F_EHT 432 11 12 12 6 7
1070 T4 [RHET 610 11 11 17 11 13
1080 & HHET 341 7 7 12 10 12
1090 BiEHT 545 6 18 8 14 10
1100 £ BiEHT 459 8 8 12 13 7
1110 {RIEMT 169 4 4 5 7 1
1120 $&1E JTHT 83 0 0 1 0 0
1130 +5&HT 33 2 1 0 0 1
1140 FeJRHET 13 0 1 0 1 0
1150 #FRET—T B 182 4 5 3 4 8
1160 FKERT=THB 229 3 1 4 1 3
1170 ;F/KHET 180 1 1 3 1 3
1180 BEALHET 222 7 3 3 4 2
1190 #&FAHT 177 6 4 3 2 4
1200 XFHEI—TH 120 0 1 0 1 1
1210 XFHEIZTH 174 3 2 3 5 3
1220 ¥rHET 143 3 1 1 1 1
1230 #xHET 167 3 4 2 2 4
1240 ZEHT 136 2 1 4 2 1
1250 fEEHET 160 2 3 2 2 0
1260 fEH & 54 0 1 0 1 0
1270 E=EHT 150 3 4 0 2 1
1280 FRAHET 151 1 1 1 2 2
1290 SRHET 191 4 6 1 5 3
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ARET (k) 2—F {THRHET (KF) 8 HEH 0(%) 1 2 3 4 5 6 7 8 9
1300 4 ZEHT 138 1 2 1 1 3 3 3 2 1 1
1310 RLHET 77 1 1 2 2 0 1 0 1 0 1
9999 KHEMRXET 6990 135 149 143 145 140 133 133 116 145 129
1510 }EHD L BT 642 12 13 15 9 13 11 24 20 14 23
1520 HEH T ET 604 9 5 10 8 10 11 10 10 11 21
1530 HEHNFTHET 325 11 9 3 9 5 6 6 3 5 7
1540 K{EFHT 507 8 6 8 12 10 4 6 5 14 5
9999 HEMNE X &t 2078 40 33 36 38 38 32 46 38 44 56
2010 EEERHAT 199 6 5 4 7 6 5 4 5 9 5
2020 £ EFGHT 284 10 9 8 9 7 5 4 7 4 5
2030 L0AT 19 0 0 0 1 0 0 0 0 1 0
2040 MET—T B 197 1 0 1 2 5 3 3 4 4 3
2050 ;MET—T H 199 3 2 4 0 1 3 0 4 3 4
2060 5T 34 1 0 0 0 1 0 0 0 1 2
2070 F=xET—TH 232 4 7 6 2 5 4 5 2 4 6
2080 FRETZTH 192 2 2 2 8 3 4 3 1 4 1
2090 i HT 1637 16 16 30 30 20 33 38 28 34 30
2100 LAy 215 10 7 5 11 9 3 7 5 6 7
2110 HEMIEEBT—TH 188 1 2 6 5 2 1 4 3 1 1
2120 HEMIETBT—TH 220 5 1 8 6 7 7 7 7 5 7
9999 £ ERXEt 3616 59 51 74 81 66 68 75 66 76 71
2510 FUEHET 1830 46 39 34 52 45 51 60 51 66 73
2520 sKAEHT 1070 37 32 32 36 41 36 25 39 33 37
2530 & /NRHET 315 11 7 3 7 8 7 5 5 6 7
2540 FHi5HT 409 6 1 6 5 8 6 4 5 5 3
2550 jHHT 209 3 4 3 6 7 7 7 3 2 3
2560 = ST 868 13 13 14 18 16 19 30 11 25 23
2570 K EHT 94 2 0 1 1 2 3 0 0 3 1
9999 MERXET 4795 118 96 93 125 127 129 131 114 140 147
3010 K#THT 853 21 10 14 14 13 15 16 22 23 12
3020 B IHT 840 11 33 21 17 18 15 16 13 17 23
3030 L EFHT 671 17 22 10 19 8 12 15 17 16 21
3040 T FE LHT 146 0 1 2 1 1 1 1 1 0 4
3050 R AT 1703 48 46 51 43 32 41 48 47 40 45
3060 THES AT 445 5 6 4 3 8 3 3 6 7 6
3070 THEFEHT 405 2 6 6 8 6 6 11 6 4 7
3080 HhHT 369 9 20 8 19 13 21 16 15 11 6
3090 HHEHT 370 12 11 14 10 6 13 15 11 15 12
3100 H R FEAT 537 13 15 9 15 10 13 8 5 9 7
3110 EHAILHET 398 10 11 11 4 9 6 5 6 7 7
9999 /\ FER X5t 6737 148 181 150 153 124 146 154 149 149 150
3510 2R LHT 180 2 3 1 1 5 1 2 0 2 0
3520 &R 334 8 3 5 10 3 5 3 3 5 5
3530 E[RTHT 874 22 28 16 16 32 15 16 19 10 19
3540 & R AKHT 321 1 1 4 2 6 9 6 10 4 4
3550 A EFHT 720 8 8 12 12 15 16 15 14 10 14
3560 &= FERAT 266 1 1 2 4 5 6 6 4 5 3
3570 & TG 795 16 16 14 19 13 4 8 7 12 10
3580 FLLIFTHT 513 6 12 18 4 9 12 10 6 6 7
3590 jEHT 12 0 0 0 0 0 0 0 0 0 0
9999 S HKXET 4015 64 72 72 68 88 68 66 63 54 62
4010 E4)I| QET 304 1 3 1 0 4 10 2 7 3 6
4020 {EESHT 69 2 0 2 0 1 0 0 1 2 1
4030 5HT 192 4 2 5 8 3 5 2 2 2 4
4040 SHEAHT 172 4 2 4 3 4 2 3 5 3 4
4050 7K EHT 376 8 5 5 10 10 6 6 7 9 7
4060 E=Z HAT 318 10 8 9 7 5 10 6 9 10 7
4070 dt[RHET 149 3 4 1 2 3 4 3 1 3 1
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6510 B &= A#HGAET 21
6520 HZ= A KITLHET 167
6530 B E A HHET 97
6540 HEALLTHT 167
6550 B &AM 2 RHET 95
6560 HZEAEILHT 139
6570 B E A RIHET 162

6580 HZEAERT 96
6590 HZEARHAT 59
6600 HZEAGHT 100
6610 HEA LFGHET 51
6620 HZE A FGHET 49
6630 HZE AT FGHET 107
6640 B EA EitiHlT 40
6650 HZE AT 2
6660 HZAERHT 52
9999 HEARKET 1404 1 1
7010 Z B MO ET 146
7020 — R AHT 292
7030 — R FR#AHT 102

7040 — B T KEFHT 197
7050 = R B7 HIAHET 92
9999 — Rt 829

ARET (k) 2—F {THRHET (KF) 8 HEH 0(%) 1 2 3 4
4080 =;TI;HAMT 167 4 4 12 4 4
4090 R e AT 265 4 6 5 7
4100 FFFOMET 98 1 3 0 1
4110 JbFFOET 109 2 5 3 5
9999 2RI X et 2219 43 42 4 42 47
4510 AR EE—ZFHET 684 5 8 13 8
4520 EREE — ZFEHT 149 0 4 3 4
4530 EREE=FKHT 126 3 4 3 2
4540 EREEPUFET 121 2 1 2 2
4550 EREE R FEHT 90 2 2 1 1
4560 AR /NEET 55 1 0 2 0
4570 EREE-LFHHT 118 0 0 1 2
4580 ERZE)\ZEHT 66 0 2 1 2
4590 EREE N FEHT 119 0 2 2 1
4600 EREE-+FHET 141 1 2 2 3
4610 AR+ —HHET 180 2 1 2 2
4620 EREE+ — FKHET 251 6 5 2 3
9999 ERERXET 2100 22 31 3 34 30
5010 RBF0 A HEET 155 5 1 5 1
5020 RBFNBAEAHET 153 2 0 3 5
5030 REFORE]{ZHT 176 2 2 1 6
9999 RBFNIX &t 484 9 3 9 12
5510 wh R HT 220 0 3 3 0
5520 = HhET 553 9 10 2 6 8
5530 75 = T 436 6 10 1 6 6
5540 T EEHT 228 5 2 2 3
5550 EFHT 73 1 0 0 1
9999 =R X 5t 1510 21 25 4 17 18
6010 [E]ET/NER 83 1 1 1 3
6020 [z ET A 85 0 0 2 0
6030 FEIET &I 78 1 1 1 3
6040 ERZEIFMT 190 2 1 5 5
6050 JI|EETER 139 1 0 0 2
6060 JI| AETF 101 1 3 0 2
9999 FEERXET 676 6 6 9 15

1 0 0 0
2 1 1 2
0 0 0 0
0 1 0 2
1 1 1 1
1 0 2 1
2 1 1 1
0 0 0 0
1 0 1 0
1 1 1 0
1 0 0 0
0 2 2 0
0 1 1 0
0 0 0 0
0 0 0 0
0 0 0 0
0 8 0 7
0 1 1 2
3 3 4 1
0 0 1 0
2 1 0 0
1 0 0 2
6 5 6 5
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ARET (k) 2—F {THRHET (KF) 8 HEH 0(%) 1 2 3 4 5 6
8011 IRAHETFGHERLY 65 0 0 0 0 0 0 0
8012 IRAETFHERA 111 1 0 3 0 1 1 0
8013 IR AHET AR (& 78 0 1 0 1 1 1 2
8021 YRAHTZEKLY 83 0 1 0 0 1 1 0
8022 IR AHTIEKA 8 0 0 0 0 0 0 0
8023 R AHETIEKIE 9 0 0 0 0 0 0 0
8031 JAHBTH ALY 159 1 2 1 2 1 1 0
8032 IRAHETH A A 9 0 0 0 0 1 0 0
8033 IRABTH AL 19 0 0 0 0 0 1 0
8041 R AHTHLIFL 73 0 0 0 0 1 0 1
8042 IR AHTELIRA 34 0 0 0 0 0 0 0
8043 IR AHT LT & 22 0 0 0 0 0 0 0
8044 IR AHTHGIFIZ 26 0 0 0 0 0 0 0
8045 IR AHTELIFIF 48 0 0 0 0 0 0 0
8050 IRAHTIRA 192 1 0 1 1 1 1 3
8060 IR AHTFTHA 138 2 0 1 1 1 1 0
8070 RAHTER 161 1 0 0 0 1 0 1
8080 IR AHT kA 52 0 0 1 0 1 0 0
8090 I AHT HEE 53 0 0 0 1 0 0 0
8100 JAHETH /IR 26 0 0 0 0 0 1 0
8110 I AHT)II 55k 55 0 0 0 0 0 0 1
8120 IR AHTEEM: 76 0 0 0 0 0 0 0
8130 JRAHETH L 74 1 1 1 1 0 1 2
8140 IRAHTEFRT 115 0 0 0 0 0 1 2
8150 IRAHTEF XK L 88 0 1 0 0 1 0 0
9999 AKX EH 1774 7 6 8 7 11 10 12
9010 FTHTAKZEH 511 8 8 15 7 6 8 8
9020 FTHTHE E AL 278 3 5 4 6 3 5 2
9030 FTHT#H&H 828 17 24 32 26 22 30 29
9040 FTHIHEH 991 28 19 14 33 18 25 31
9999 FTHREXEH 2608 56 56 65 72 49 68 70
9110 SFRT T AL 447 9 4 5 9 8 13 12
9120 SERTH L 223 2 1 2 1 7 2 5
9130 RETH E 107 2 1 0 5 4 2 2
9140 $EET T4t 331 4 6 7 5 8 12 11
9150 $EMT L 45 429 2 11 15 6 7 11 11
9160 SZETEE+T 637 10 14 10 24 20 12 17
9170 $ERTRNH 801 8 23 18 16 20 19 23
9180 #RETEE 537 7 4 10 8 10 11 8
9190 $ERTZ A 177 2 4 6 2 8 2 6
9200 £=HT FF U 156 2 3 4 2 1 2 4
9210 $ERT=H 297 4 7 4 3 7 5 8
9220 $RHTIEH 478 8 14 10 12 8 13 17
9230 SEHET B M 520 11 7 4 10 8 13 12
9240 FERTIE R 231 2 5 5 5 6 1 2
9250 SEETALFrith 441 9 12 4 8 11 13 12
9999 FERXET 5812 82 116 104 116 133 131 150
9310 EFFHTAR 186 2 2 0 4 0 2 1
9320 H[5HETIL 184 4 0 3 4 2 2 1
9330 H[GHET/NE 126 0 1 2 0 1 2 1
9340 E[5HTE 328 5 3 4 5 3 4 7
9999 RFRXEH 824 11 6 9 13 6 10 10
9410 RET T & 319 5 4 4 7 3 10 7
9420 RHETHHE 221 0 1 0 2 0 1 0
9430 RETER 146 1 2 0 1 0 1 0
9440 RETAEF 15 0 0 0 0 0 0 0
9450 RETHE[R 24 0 0 0 1 0 0 0
9460 RET{—_HE 28 0 0 0 0 0 1 0
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ARET (k) 2—F {THRHET (KF) 8 HEH 0(%) 1 2 3 4 5 6 7 8 9
9470 RETER 8 0 0 0 0 0 0 0 0 0 0
9480 RETHER 53 0 1 0 0 2 0 1 0 3 0
9999 RIXXEt 814 6 8 4 11 5 13 8 10 10 10

99999 & &t 55628 956 983 1008 1056 1025 1072 1112 1032 1063 1137
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TERET (A3 2—F {TIRET (KF) 4 10 13
10 HHET
20 & T
30 @MY
40 LRHET
50 AET—T B
60 AXET_TH
70 RET=TH
80 ¥AT IR AT
90 FENIIRET
100 Jt D ALET
110 #¥3THT
120 ¥A;TAHET
130 H M7
140 ER[E BT
150 4&F #rHET
9999 R IGHX &t
510 AETIHT B
520 tEEEHT
530 /\iEHT
540 15 EHT
550 FrithET
560 = ZEHT
570 R EHT
580 #rEAHET
590 FriEHET
600 ZERHAT
610 J&HT
620 FEET—TH
9999 J/\ KXt
1010 B HT
1020 £ FHT
1030 o [T
1040 78 FrHT
1050 & HHET 19
1060 F_EHT 13
1070 T4 [RHET 14
1080 & HHET 11
1090 AEHRT
1100 L HEHT
1110 fRIEHET
1120 $1EJTHT
1130 + 40T
1140 FkJRET
1150 #FRET—T B
1160 F/RET—T B
1170 ;F/KHET
1180 BEALHET
1190 #&FAHT
1200 XFHEI—TH
1210 XFHEIZTH
1220 T
1230 #xHET
1240 ZEHT
1250 fEEHET
1260 AEh &
1270 EEHT
1280 FRAHET
1290 $RHET
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AT k) 2—F {THHE] (KF) & 10 11 12 13 14 15 16 17 18 19

1300 % ZEHT 3 1 1 2 0 4 1 2 2 2
1310 RLHET 0 2 0 0 2 0 1 2 1 1
9999 KHEMRXET 140 134 127 114 141 141 116 133 139 141
1510 }EHD L BT 22 16 16 18 16 15 16 14 14 11
1520 HEH T ET 11 9 12 13 10 11 18 18 11 12
1530 HEHNFTHET 3 2 4 8 3 5 5 3 6 7
1540 K{EFHT 3 7 7 5 9 10 13 11 11 16
9999 HEMNE X &t 39 34 39 44 38 41 52 46 42 46
2010 EEERHAT 5 2 5 1 2 4 1 3 1 1
2020 £ EFGHT 3 8 4 9 5 2 5 6 5 5
2030 L0AT 0 1 1 0 0 0 0 0 0 1
2040 ;ET—TH 3 5 5 9 2 2 9 5 6 4
2050 ;MET—T H 1 3 1 3 5 3 7 2 7 5
2060 5T 2 3 1 1 2 0 1 0 0 2
2070 F=xET—TH 3 5 4 4 2 7 5 4 10 7
2080 FRETZTH 2 3 5 3 4 5 5 2 3 2
2090 i HT 45 27 34 33 35 34 39 31 33 25
2100 FrdLHT 4 5 2 6 4 9 5 4 4 7
2110 HEHIFRET—T B 4 5 5 5 6 6 6 1 9 7
2120 HEHIFRBET =T B 3 8 4 3 3 5 3 8 6 4
9999 EERKXET 75 75 71 77 70 77 8 66 84 70
2510 FUEHET 62 53 75 53 61 40 52 34 36 45
2520 Sk EEHET 35 33 32 39 36 42 33 48 27 19
2530 & /NRHET 7 6 9 8 7 4 11 11 6 11
2540 Fi5HET 3 7 6 10 6 7 7 3 7 4
2550 jHHT 2 3 3 2 6 5 4 3 4 5
2560 & &7 12 17 17 17 16 23 17 21 14 23
2570 K EHT 5 2 1 0 0 2 1 3 1 2
9999 MERXET 126 121 143 129 132 123 125 123 95 109
3010 K#THT 25 20 17 22 23 18 24 16 20 18
3020 L IHT 14 20 18 23 17 23 23 19 21 23
3030 L EFHT 19 18 15 22 15 23 29 22 21 29
3040 T FE LHT 1 2 1 2 1 3 2 2 3 0
3050 R AT 37 35 49 42 40 35 43 40 42 42
3060 THES AT 4 6 6 6 9 12 12 14 5 6
3070 T FREHT 7 7 9 6 7 6 5 5 7 12
3080 HhHT 10 9 8 12 6 11 9 10 5 7
3090 A ERHAT 8 12 11 6 9 8 13 9 8 9
3100 H R FEAT 6 9 5 11 7 10 18 15 10 10
3110 EHAILHET 5 10 4 5 8 3 12 5 12 4
9999 /\ FER X5t 136 148 143 157 142 152 190 157 154 160
3510 2R LHT 1 1 3 3 1 2 6 2 5 7
3520 &R 5 2 8 6 4 8 2 8 5 7
3530 E[RTHT 23 12 17 20 20 17 26 14 22 26
3540 & R AKHT 9 3 6 10 7 8 15 10 9 4
3550 A EFHT 13 11 15 9 15 15 13 14 12 12
3560 &= FERAT 7 5 4 3 6 6 3 6 6 5
3570 & TG 12 7 7 14 7 14 13 15 17 12
3580 FLLIFTHT 8 7 5 7 4 7 7 9 8 17
3590 jEHT 0 0 0 0 0 0 0 0 0 0
9999 = HKXET 78 48 65 72 64 77 8 78 84 90
4010 411 NET 2 4 8 8 7 7 2 7 6 7
4020 {EESHT 2 1 2 0 3 1 1 5 1 3
4030 ZHT 4 1 6 3 4 7 6 11 5 7
4040 SHEAHT 2 3 4 4 7 3 4 3 5 8
4050 7K EHT 9 3 8 14 9 9 12 7 7 14
4060 E=Z HAT 7 8 9 7 6 9 8 5 6 6
4070 Jt[RHET 0 1 2 4 2 3 4 5 3 3
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—_

—_ —_
O 0
—

TIET (KF) 2—F TIRAT (KF) 4 10 1 12 13 1
4080 =;TI;HAMT 4 1
4090 R e AT 2 10
4100 FFFOMET 3 1
4110 JbFFOET 4 3
9999 MK &t 39 3 5 55 4 5
4510 AR EE—ZFHET 13 1 1 10
4520 EREE — FEET
4530 AREE=ZHT

4540 EREE Y FEHET
4550 EREEFH FEHT
4560 AR /NEET
4570 ERE-LFHEET
4580 EREE)\ZEHT
4590 EREE N FEHT
4600 EREE-+FHET
4610 BEREE+—ZFHT
4620 EREE+ —FEHET
9999 ARERXET 3
5010 RBF0 A HEET
5020 RBFNBAEAHET
5030 REFORE]{ZHT
9999 RBFNIX &t
5510 wh R HT

5520 = HhET 1
5530 74 AT

5540 T EEHT

5550 EFHT

9999 =X &t 2
6010 FEIRT/MER

6020 [EMT

6030 FEETA I

6040 ERZEIFMT

6050 JI|AMBTE

6060 )| HETTY

9999 FEERXET 1
6510 B &= A#HGAET
6520 HZ= A KITLHET
6530 B E A HHET
6540 HZ&EALLUTHT
6550 B &AM 2 RHET
6560 HZEAEILHT
6570 B E A RIHET
6580 HZEAERT
6590 HZEARHAT
6600 HZEAGHT
6610 HEA LFGHET
6620 HZE A FGHET
6630 HZE AT FGHET
6640 B EA EitiHlT
6650 B ZASET
6660 HZAERHT
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XH24.7 9E REXBIRED—HREICIYNEANZEH-AO - HFEHK
(H29.7.31 IR JATERET & (K=F) B F Al A O 5 (55

AT k) 2—F {THHE] (KF) & 30 31 32 33 34 35 36 37 38 39

1300 % ZEHT 1 4 1 4 2 4 1 3 4 2
1310 RLHET 2 1 1 0 1 1 0 2 1 1
9999 KHEMRXET 151 160 198 177 180 174 173 179 178 197
1510 }EHD L BT 25 16 10 14 14 6 18 18 25 24
1520 HEH T ET 12 6 10 11 14 13 17 1 19 19
1530 HEHNFTHET 5 6 9 6 3 5 7 3 8 5
1540 K{EFHT 14 5 5 8 8 6 6 11 16 9
9999 HEMNE X &t 56 33 34 39 39 30 48 43 68 57
2010 EEERHAT 2 4 1 3 7 10 6 8 3 14
2020 £ EFGHT 4 11 8 12 8 14 4 8 3 8
2030 L0AT 0 0 0 0 0 0 0 0 0 0
2040 ;ET—TH 2 8 7 1 2 3 3 1 1 5
2050 ;MET—T H 3 4 6 2 3 4 5 5 4 4
2060 5T 2 1 0 1 0 1 2 1 2 3
2070 F=xET—TH 5 6 6 9 3 9 1 7 7 4
2080 FRETZTH 8 2 3 0 3 4 3 4 9 7
2090 i HT 22 41 30 33 31 46 53 32 30 30
2100 FrdLHT 9 11 6 4 11 12 13 7 7 12
2110 HEHIFRET—T B 4 2 6 5 3 0 3 5 4 8
2120 HEHIFRBET =T B 7 10 0 3 8 3 3 11 5 9
9999 EERKXET 68 100 73 73 79 106 96 89 75 104
2510 FUEHET 49 45 64 46 37 68 55 53 71 64
2520 sKAEHT 4 20 34 43 43 46 39 34 53 38
2530 =/\RHET 11 11 7 7 6 9 5 8 6 5
2540 Fi5HET 8 5 2 1 6 6 6 9 10 6
2550 jHHT 9 6 4 7 4 10 3 4 2 4
2560 = ST 26 18 20 23 27 30 17 14 12 27
2570 K EHT 1 1 3 0 2 1 4 1 6 3
9999 MERXET 148 106 134 127 125 170 129 123 160 147
3010 K#THT 11 24 24 11 19 19 20 29 30 24
3020 B IHT 26 29 23 18 21 18 27 20 20 28
3030 Lt EFHT 17 17 23 10 19 27 15 15 21 22
3040 T FE LHT 3 3 2 4 4 1 1 0 2 4
3050 R AT 52 54 70 49 56 60 55 51 45 30
3060 THES AT 9 8 7 8 8 15 10 8 8 8
3070 THEFEHT 3 8 8 6 10 19 8 10 11 7
3080 HHHHT 11 13 11 7 17 17 14 13 11 11
3090 HHEHT 10 13 6 10 9 14 18 18 17 9
3100 H R FEAT 17 16 17 13 21 13 12 14 11 10
3110 HepILHET 6 9 9 8 11 19 7 7 10 12
9999 /\ FER X5t 165 194 200 144 195 222 187 185 186 165
3510 2R LHT 3 1 3 4 3 1 1 4 1 3
3520 2R AT 5 5 5 7 2 7 7 4 4 7
3530 E[RTHT 26 10 24 32 14 35 30 23 27 18
3540 & R AKHT 4 5 4 2 8 2 10 7 6 11
3550 A EFHT 14 13 15 9 16 10 18 21 18 16
3560 &= FERAT 10 7 6 7 7 5 9 5 5 5
3570 & TG 27 22 17 13 7 15 19 11 20 21
3580 FLLIFTHT 18 19 9 9 11 7 14 14 13 10
3590 jEHT 0 0 0 0 0 0 0 0 0 0
9999 S HKXET 109 82 83 83 68 82 108 89 94 Of
4010 411 NET 3 5 3 3 2 4 6 9 5 7
4020 {EESHT 0 0 1 3 2 1 0 2 1 1
4030 15T 1 3 9 5 3 4 5 5 4 4
4040 SHEAHT 8 7 6 3 2 5 4 2 5 8
4050 7K EHT 8 6 13 5 10 11 12 8 9 12
4060 E=Z HAT 8 8 15 16 13 11 8 15 5 14
4070 dt[RHET 5 4 8 4 2 3 1 3 3 4



XH24.7 9E REXBIRED—HREICIYNEANZEH-AO - HFEHK
(H29.7.31 IR JATERET & (K=F) B F Al A O 5 (55

ARET (k) 2—F {THRHET (KF) £ 30 31 32 33 34 35 36 37 38 39
4080 =;TI;HAMT 6 8 7 6 5 4 5 3 5 4
4090 R e AT 4 6 7 10 5 4 4 2 5 8
4100 FFFOMET 2 2 4 5 2 6 6 6 1 2
4110 JbFFOET 3 5 0 3 6 4 8 4 5 3
9999 2RI X et 48 54 73 63 52 57 59 59 48 67
4510 AR EE—ZFHET 11 5 10 12 12 20 22 20 14 16
4520 EREE — FEET 5 5 6 2 4 8 3 5 10 3
4530 EREE=FKHT 4 6 4 2 4 2 6 4 5 5
4540 EREEPUFET 3 2 1 0 4 2 5 3 1 1
4550 EREE R FMET 1 1 1 5 2 2 5 0 1 2
4560 EREE/NFEHET 1 5 2 4 1 2 4 3 2 2
4570 EREE-LFHHT 3 1 3 4 5 1 2 1 2 3
4580 ERZE)\ZEHT 4 3 1 2 2 4 2 3 3 2
4590 EREE N FEHT 6 3 3 3 3 5 2 7 2 3
4600 EREE-+FHET 5 7 5 1 3 2 5 6 3 2
4610 AR+ —HHET 4 3 9 5 6 4 4 4 6 6
4620 EREE+ — FKHET 8 12 10 7 5 3 3 3 4 0
9999 ARERXET 55 53 55 47 51 55 63 59 53 45
5010 RBF0 A HEET 5 4 5 4 7 6 5 3 3 6
5020 RBFNBAEAHET 8 5 2 1 5 5 3 5 2 4
5030 FRFNE{—ET 4 5 4 8 2 6 6 3 8 4
9999 RBFNIX &t 17 14 11 13 14 17 14 11 13 14
5510 &b R HT 3 4 4 5 2 6 3 3 2 3
5520 = HhET 12 14 14 11 13 13 20 16 15 18
5530 8= HT 7 7 8 10 12 9 11 14 6 12
5540 T EEHT 1 7 2 6 3 8 6 6 3 7
5550 ERHT 1 0 0 1 0 2 2 2 4 1
9999 =R X 5t 24 32 28 33 30 38 42 41 30 41
6010 [ BT /iR 1 3 1 1 3 0 3 1 2 3
6020 [T 5 0 2 3 4 4 3 2 1 3 2
6030 FEET &I 3 1 0 1 3 1 1 1 3 2
6040 HiEFHT 3 3 9 2 3 5 5 7 4 6
6050 JI|EETER 2 1 0 2 2 1 3 2 0 4
6060 JI| AETF 0 0 4 5 3 2 3 0 6 3
9999 FEERXET 9 10 17 15 18 12 17 12 18 20
6510 B &= A#HGAET 1 1 1 1 0 1 0 0 0 0
6520 H & A KIEHET 3 4 5 2 6 3 1 3 5 4
6530 B E A HHET 1 1 3 0 1 1 1 2 1 1
6540 HEALLTHT 3 5 2 3 1 3 3 4 2 1
6550 B &AM 2 RHET 0 0 1 1 1 3 2 1 4 1
6560 HZEAEILHT 2 3 4 3 1 4 4 5 1 4
6570 B E A RIHET 1 1 2 4 2 1 1 0 1 5
6580 HZEAEHT 0 1 1 0 0 0 1 2 1 0
6590 HEAKHET 0 2 1 0 0 0 0 0 0 0
6600 B &= A G T 0 0 2 2 1 0 3 1 2 1
6610 HEA LFGHET 0 0 1 1 0 1 1 2 1 0
6620 HZE A FGHET 0 1 0 1 0 1 1 1 0 2
6630 HEA T FaHT 0 1 0 0 0 0 1 0 1 0
6640 HE A EithHET 3 1 0 0 0 0 1 0 0 1
6650 B ZASET 0 0 0 0 0 0 0 0 0 0
6660 HZAERHT 0 0 0 0 0 0 0 0 0 0
9999 HEARKET 14 21 23 18 13 18 20 21 19 20
7010 Z B MO ET 1 6 3 3 0 0 5 3 1 2
7020 — RAHT 7 7 4 6 1 4 2 3 7 2
7030 — R FR#AHT 0 2 0 0 1 2 1 0 1 0
7040 — R T KEFHT 0 0 1 2 1 1 2 1 4 1
7050 — R ¥7 H I ET 0 0 3 0 1 3 0 1 1 3
9999 — R ET 8 15 11 11 4 10 10 8 14 8
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(H29.7.31 IR JATERET & (K=F) B F Al A O 5 (55

TIET (KF) 2—F TIRAT (KF) 4 30 31 32 33 34 35 36 37 38 39
8011 IRAHETFGHERLY 0 1 1 0 1 0 2 1 0 0
8012 IRAETFHERA 4 3 2 2 0 1 2 1 2 0
8013 IR AHET AR (& 1 2 0 1 3 3 0 0 3 1
8021 YRAHTZEKLY 0 0 3 3 1 2 1 1 1 1
8022 IR AHTIEKA 0 0 0 0 0 0 0 0 0 0
8023 R AHETIEKIE 0 0 0 0 0 0 0 0 0 0
8031 JAHBTH ALY 6 2 2 3 0 2 3 2 0 2
8032 IRAHETH A A 1 0 0 0 1 0 0 0 0 0
8033 IRABTH AL 0 0 0 0 0 1 0 0 0 1
8041 R AHTHLIFL 0 1 0 2 1 1 2 2 0 0
8042 IR AHTELIRA 0 2 0 0 0 0 0 0 1 0
8043 IR AHT LT & 0 0 0 1 0 0 0 1 0 0
8044 IR AHTHGIFIZ 0 1 0 1 0 0 0 0 0 0
8045 IR AHTELIFIF 0 1 0 0 2 1 0 0 1 0
8050 IRAHTIRA 2 5 1 2 1 4 2 2 6 6
8060 IR AHTFTHA 3 1 1 1 1 3 3 0 1 1
8070 RAHTER 0 1 1 2 1 1 1 1 2 1
8080 IR AHT kA 2 1 1 0 0 1 0 0 0 0
8090 I AHT HEE 0 0 1 0 1 2 0 2 1 1
8100 JAHETH /IR 0 0 0 0 0 0 0 0 0 0
8110 I AHT)II 55k 0 0 1 0 0 0 1 1 0 0
8120 Y AHTEEM: 0 0 1 1 2 1 0 1 2 0
8130 JRAHETH L 2 2 0 0 0 1 0 1 1 1
8140 IRAHTEFRT 0 1 1 1 0 1 3 0 1 0
8150 IRAHTEF XK L 1 0 1 1 1 2 0 1 1 0
9999 AKX EH 22 24 17 21 16 27 20 17 23 15
9010 FTHTAKZEH 14 10 11 20 16 7 7 12 4 11
9020 FTHTHE E AL 4 8 9 6 4 10 3 4 10 7
9030 FTHT#H&H 21 30 17 30 31 40 40 26 27 32
9040 FTHTHEIH 17 31 24 28 30 33 31 35 29 28
9999 FTHREXEH 56 79 61 8 8 9 8 77 70 78
9110 SERT T HIE 4 9 11 12 6 11 7 15 5 9
9120 $ZETH L 5 3 3 6 0 6 10 3 8 4
9130 RETH E 2 3 0 2 5 4 3 6 2 4
9140 $RET T4t 8 4 8 9 9 8 11 9 13 6
9150 $EMT L 45 5 10 9 9 16 14 12 15 8 11
9160 SRETEERT 14 18 15 16 20 12 17 15 18 24
9170 $EETINHE 12 23 17 19 20 26 24 24 27 21
9180 #RETEE 8 9 14 8 6 7 17 11 16 10
9190 FERTZ O 3 3 8 6 4 6 6 6 6 15
9200 £=HT FF U 6 3 2 4 1 4 6 3 0 5
9210 $ERT=H 6 7 8 9 12 10 7 4 11 9
9220 FERTHH 8 10 12 9 13 5 9 10 14 16
9230 SEHET B M 13 19 10 15 12 6 15 20 23 15
9240 FERTIE R 6 7 3 8 5 4 4 6 6 8
9250 FEETALFrith 19 18 13 18 16 27 19 14 18 8
9999 FERXET 119 146 133 150 145 150 167 161 175 165
9310 EFFHTAR 3 1 3 0 2 1 2 4 8 1
9320 H[5HETIL 4 3 3 3 3 4 6 4 4 4
9330 H[GHET/NE 7 3 2 2 0 1 3 4 0 1
9340 E[5HTE 4 6 5 4 6 7 3 11 5 8
9999 RFRXEH 18 13 13 9 11 13 14 23 17 14
9410 RET T & 11 8 8 7 11 10 4 6 12 4
9420 RHETHHE 2 2 1 2 2 2 5 3 3 0
9430 RETER 3 0 1 1 0 4 0 0 0 2
9440 RETAEF 0 0 0 0 0 0 0 0 0 0
9450 RETHE[R 0 0 0 0 0 0 0 0 1 0
9460 RET{—_HE 0 0 0 0 0 0 1 0 1 0
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EET k) 2—F {THHE] (KF) & 30 31 32 33 34 35

9470 RETER 0 0 0 0 0 0
9480 RHETHER 1 1 1 0 2 1
9999 RKXET 17 11 11 10 15 17

99999 H&ET 1231 1296 1318 1253 1269 1432

36
0

12
1405

37

10
1355

38

18
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39

7
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TERET (A3 2—F {TIRET (KF) 4 40 43
10 HHET
20 & T
30 @MY
40 LRHET
50 AET—T B
60 AXET_TH
70 RET=TH
80 ¥AT IR AT
90 FENIIRET
100 Jt D ALET
110 #¥3THT
120 ¥A;TAHET
130 H M7
140 ER[E BT
150 4&F #rHET
9999 R IGHX &t
510 AETIHT B
520 tEEEHT
530 /\iEHT
540 15 EHT
550 FrithET
560 = ZEHT
570 R EHT
580 #rEAHET
590 FriEHET
600 ZERHAT 1
610 J&HT
620 FEET—TH
9999 J/\ KXt
1010 B HT
1020 £ FHT
1030 o [T
1040 78 FrHT
1050 & HHET
1060 F_EHT
1070 T4 [RHET
1080 & HHET
1090 AEHRT
1100 L HEHT
1110 fRIEHET
1120 $1EJTHT
1130 + 40T
1140 FkJRET
1150 #FRET—T B
1160 F/RET—T B
1170 ;F/KHET
1180 BEALHET
1190 #&FAHT
1200 XFHEI—TH
1210 XFHEIZTH
1220 T
1230 #xHET
1240 ZEHT
1250 fEEHET
1260 AEh &
1270 EEHT
1280 FRAHET
1290 $RHET

N

ANPA—=O—-=NNWJIW=—=
N

OO ONOONDID—=O0O0WNNOUOUNOONIUIOWMOWO 2000 CTIOUTTCTIWWN
—
—
S
©
—
o
(o]

AP 2O OND
N

—“ Nwowd~JwnNhanNn o
S

ODWNWOOOO®DWO U IO
S
S

NOONO—-AN—-—=01 = JdNOO—-—=0—=0ON—-NO0OO©—-=WNN O
N

—_
-y
—_
—_

WO JoaooOIN b~
—

o—nmmimm—nmommmhh
w
w
&
w
ol
N
w
w
N
ol

-y
-y
—_
—_

—_
—_
N

15

—_
N O
—_
—_
o = o
—_ —_
N = DN

11
122 115 116 121 1

—_
—_
—_
©
—
w
- O
O —
—
N—L
NO PR JOOOGMNNONWOOIO = WO OWOOOWWMNDMNMNN—-=RA_AINJOGIOON~OoO

—_ O — —_
ONDWO—= O
CGINOWOTITOONONO—=-NWO—=UOIONJOOONONIR, = 0PN PN~

H Ol
[e21Nd)}
~N N

—_ —_
— N WD

—_

- N

N —

—_

w

—_

o W

ju—y

—_

—_

ju—y
ju—y
iy
N

~
NNOPAL,JIODP~W

[=2]
OO W - JOJONN—=,~O©OLOL
~J —
D
N WA PAA,ONMNOOOORA, == 00O

N Ooowa—=whN
\l —
NP, OJOOPR~AOOOOWNO
[=2]
—
~l

—_
(2]
©

—_
w
u—y
D

_L
-
.
N,

N — —_
- NPhO G
— — — — —
W—=Nbhw
N N — —
OO W-—
— — — —
WN OO —=O
—_ —_ - N
~NOoTwww
— — — — —
HoCODNOC =
N — — ot
— Oowod
_— o N —
O wWN OOl
_ N = =N
O N ©OoN
— — — — —
~NOo o =

—_
(=]
ju—y
o

IO O OO0 WWW—-WPHArDIEANNOGOTO—=0ON
—_
AP OCOTOOO DB PAEADRAINWONLOVWW—-000 WO
\IGOGOOOOOJ}J}GOGOO'I\I\IJ}—‘ONO\I(:
A WOAONOCGWOAIWOODWOIONOONOO—-=DN
G)G)—ko-h-h—k\lm-hc)\lc)\l—k—ko—kl\)a
Ny —~OhhOOOWDARWOO -0 A= —=0LWOD
apPbhwoOoO == h~hOoOwWhAhJOoP,~,rOO—= =0
CONWNPAPTOWONPAEARAEARROOOOOWNOO N
NOI = WO PRAPL,AA=NWWOAOO O — 0O WO
AP OOPRANOOO—=O0CON—=-JOTOOOOONO—-0O



XH24.7 9E REXBIRED—HREICIYNEANZEH-AO - HFEHK
(H29.7.31 IR JATERET & (K=F) B F Al A O 5 (55

AT k) 2—F {THHE] (KF) & 40 41 42 43 44 45 46 47 48 49

1300 % ZEHT 4 3 3 0 1 1 1 1 3 1
1310 RLHET 1 2 2 1 2 1 2 1 4 3
9999 KHEMRXET 179 166 188 167 200 187 180 187 236 182
1510 }EHD L BT 21 17 17 21 22 20 16 23 16 19
1520 HEH T ET 21 21 24 22 14 22 19 17 14 23
1530 HEHNFTHET 8 7 12 7 11 9 5 2 6 6
1540 K{EFHT 12 13 16 15 23 11 11 15 16 14
9999 HEMNE X &t 62 58 69 65 70 62 51 57 52 62
2010 EEERHAT 8 3 8 6 3 3 6 8 4 6
2020 % E a7 13 9 13 11 13 9 7 8 10 7
2030 T 0 0 1 1 1 0 0 0 1 0
2040 ;BET—T H 3 1 8 7 3 6 11 7 8 5
2050 ;MET—T H 2 4 5 5 4 4 2 8 5 7
2060 5T 0 3 1 0 1 1 1 1 1 0
2070 F=xET—TH 4 2 4 6 5 7 9 6 6 8
2080 FRETZTH 4 6 2 4 7 3 4 4 8 9
2090 i HT 41 43 39 43 38 45 47 37 35 31
2100 LAy 7 11 9 3 4 6 4 12 6 6
2110 HEHIFRET—T B 8 8 5 7 4 6 4 4 6 10
2120 HEHIFRBET =T B 10 5 5 7 3 7 10 8 6 3
9999 £ ERXEt 100 95 100 100 86 97 105 103 96 92
2510 FAIEHT 66 79 77 75 58 69 63 57 45 47
2520 sk EeHT 49 44 33 33 36 39 33 30 48 43
2530 & /NRHET 13 6 9 10 10 17 9 14 12 13
2540 FHiZHT 9 9 7 8 11 11 11 10 12 6
2550 ;hHT 4 6 9 5 4 5 7 2 3 6
2560 = EHT 22 25 34 20 32 23 29 22 25 22
2570 K EHT 4 2 3 2 0 0 1 2 1 1
9999 MERXET 167 171 172 153 151 164 153 137 146 138
3010 KATHT 22 23 21 38 30 17 19 34 20 23
3020 L ;IHT 28 27 3 27 33 33 27 26 29 34
3030 L EFHT 28 23 18 28 26 34 34 22 24 21
3040 T FE LHT 4 3 3 4 3 2 8 5 5 4
3050 R AT 45 58 60 59 52 58 52 39 52 55
3060 HESTHT 8 10 4 5 11 10 12 9 11 11
3070 HEAERT 14 18 11 15 13 9 9 14 14 13
3080 HhHT 16 14 15 15 16 15 14 7 13 11
3090 HHEHT 10 15 16 8 13 15 12 14 5 12
3100 H R FEAT 15 12 13 17 17 16 16 15 12 13
3110 HpALHT 10 11 14 11 11 5 9 8 7 12
9999 /\ FER X5t 200 214 210 227 225 214 212 193 192 209
3510 E[R _LHT 0 3 6 5 8 3 3 1 1 5
3520 2[R ARHT 7 9 9 13 12 6 14 8 8 14
3530 E[RTHT 13 23 19 30 20 37 34 25 26 22
3540 & R AKHT 15 10 7 12 15 7 8 10 14 13
3550 A EFHT 26 19 21 24 20 17 13 19 17 21
3560 &= FERAT 6 5 6 10 13 7 5 8 3 6
3570 & TG 12 16 16 13 19 26 18 27 14 24
3580 FLLIFTHT 17 24 20 9 15 13 13 1 18 9
3590 jEHT 0 0 1 0 0 0 0 0 0 0
9999 = HKXET 98 109 105 116 122 116 108 109 101 114
4010 411 NET 7 5 12 8 7 11 7 6 8 11
4020 &S HT 1 1 1 2 3 1 6 3 3 2
4030 5HT 7 9 6 6 8 9 5 7 6 8
4040 SHEAHT 4 0 3 7 6 2 7 9 7 7
4050 7K EHT 9 8 12 10 16 8 9 13 10 15
4060 B35 HHET 12 7 10 7 5 9 8 9 14 1
4070 Jt[RHET 2 4 6 2 6 5 2 3 7 3
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AHET (k) 2—F {THRET (KFE) & 40 41 42 43 44 4 46 4
4080 =;TI;HAMT 8 7 7 5 10
4090 R e AT 8 1 10 5 7
4100 FFFOMET 2 3 2 3 0
4110 JbFFOET 2 3 4 1 6
9999 2RI X et 62 58 6 65 65 5 67 6
4510 AR EE—ZFHET 22 14 19 16 1 15 1
4520 EREE — FEET 10

4530 AREE=ZHT
4540 EREE Y FEHET
4550 EREEFH FEHT
4560 AR /NEET
4570 ERE-LFHEET
4580 EREE)\ZEHT
4590 EREE N FEHT
4600 EREE-+FHET
4610 BEREE+—ZFHT
4620 EREE+ —FEHET
9999 ARERXET
5010 RBF0 A HEET
5020 RBFNBAEAHET
5030 REFORE]{ZHT
9999 RBFNIX &t
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5510 wh R HT

5520 = HhET 2 2 2 1 1 2 1 12
5530 75 = HT 1 1 1 1 1 1 1 13
5540 T EEHT 10
5550 ERHT 0
9999 =R X 5t 4 5 4 4 5 3 4 40
6010 FEIRT/MER

6020 [EMT

6030 FEETA I
6040 ERZEIFMT
6050 JI|AMBTE
6060 )| HETTY
9999 FEERXET
6510 B &= A#HGAET
6520 HZ= A KITLHET
6530 B E A HHET
6540 HZ&EALLUTHT
6550 B &AM 2 RHET
6560 HZEAEILHT
6570 B E A RIHET
6580 HZEAERT
6590 HZEARHAT
6600 HZEAGHT
6610 HEA LFGHET
6620 HZE A FGHET
6630 HZE AT FGHET
6640 B EA EitiHlT
6650 B ZASET
6660 HZAERHT
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ARET (k) 2—F THHET (KE) & 40 4 4 43 4
8011 IRAHETFGHERLY
8012 IRAETFHERA
8013 IR AHET AR (&
8021 RAHTIEKLY
8022 RAHTEKA
8023 R AHETIEKIE
8031 RABTH ALY
8032 AHTH AR A
8033 JABTH AL
8041 R AHTHLIFL
8042 IR AHTELIRA
8043 IR AHT LT &
8044 IR AHTHGIFIZ
8045 IR AHTELIFIF
8050 IRAHTIRA
8060 IR AHTFTHA
8070 IRAHTEER
8080 IR AHT kA
8090 I AHT HEE
8100 JAHETH /IR
8110 YR AHT)II5k
8120 Y AHTEEM:
8130 RAHTH L
8140 IRAHTEFRT
8150 IRAHTEF XK L
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9999 AKX EH 2 26 19 15 26 30 27 31
9010 FTHTAKZEH 13 12 17 16 19 14 12
9020 FTHTEER 11 4 12 13 7 8 14 7
9030 FTHT#H&H 36 28 40 31 34 39 26 24 28 20
9040 FTHTHESH 290 31 36 40 35 42 27 A1 48 29
9999 FTHREXEH 84 76 100 91 99 104 74 92 104 68
9110 SERT T HIE 20 11 12 20 7 16 20 17 18 17
9120 $RETH L 8 4 9 6 6 5 3 5 5 6
9130 RETH E 2 3 1 4 6 1 4 4 4 2
9140 SERT Tt 8 10 12 14 14 6 15 12 8 7
9150 $ERT L 45 12 8 11 16 11 18 12 6 12 18
9160 SRETEERT 15 20 22 16 23 20 20 15 19 17
9170 $ERTNH 25 30 23 27 17 25 22 271 15 21
9180 #RETEE 6 10 16 14 10 11 13 11 14 6
9190 FERTZ O 6 3 5 4 6 3 6 4 3 4
9200 £=HT FF U 2 8 5 7 3 4 2 3 7 4
9210 $RAT=H 7 13 10 8 12 13 11 8 11 16
9220 $RHTIEH 13 12 17 14 16 16 8 11 16 20
9230 SEHET B M 18 6 12 15 14 25 8 13 14 13
9240 FERTIE R 8 4 7 4 6 3 1 8 7 5
9250 SEETALFrith 14 15 14 12 15 8 14 13 11 15
9999 FERXET 164 157 176 181 166 174 159 157 164 171
9310 EFFHTAR 4 3 5 2 3 9 1 3 2 2
9320 H[5HETIL 1 5 6 7 5 5 7 8 3 3
9330 H[GHET/NE 2 2 4 3 1 3 1 3 5 5
9340 E[5HTE 7 6 9 6 6 6 8 8 7 9
9999 RFRXEH 14 16 24 18 15 23 17 22 17 19
9410 RET T & 15 6 12 6 2 7 5 6 7 9
9420 RHETHHE 3 3 3 4 5 1 3 4 6 4
9430 RETER 1 1 3 4 1 2 4 3 2 8
9440 RETAEF 0 0 0 0 0 0 0 0 0 1
9450 RETHE[R 0 1 0 1 0 0 0 0 0 0
9460 RET{—_HE 0 0 2 0 1 0 1 0 0 0
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FEE kP a—F {TBET (KF) & 40 41 42 43 44 45

9470 RETER 0 0 0 0 0 0
9480 RHETHER 0 2 1 0 3 4
9999 RKXET 19 13 21 15 12 14

99999 H&ET 1515 1493 1574 1562 1602 1570
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90 FENIIRET
100 Jt D ALET
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130 +&FHT

140 EH[EET
150 T FFHET
9999 R IGHX &t
510 AETIHT B
520 tEEEHT
530 /\iEHT
540 15 EHT
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560 = ZEHT
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600 ZERHAT
610 J&HT

620 FEET—TH

9999 J/\ KXt
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1020 k£ FHT
1030 th 5 HET
1040 74 FHET
1050 £ HHET
1060 F_EHT
1070 47 ET
1080 EHHT
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1100 L HEHT
1110 fZ1EMAT
1120 $1EJTHT
1130 + 40T
1140 FkJRET

1150 #/ZET—TH
1160 #/EET=TH
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1180 EE&ALHT
1190 & FAHT

1200 XFHEI—TH
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AT k) 2—F {THHE] (KF) & 90 o1 52 53 54 95 56 57 58 59

1300 % ZEHT 1 7 4 3 2 2 4 5 4 0
1310 RLHET 6 1 2 2 3 5 4 4 3 4
9999 XHEMZX &t 203 146 210 199 187 236 185 226 202 203
1510 }EHD L BT 15 19 24 27 13 15 18 18 20 30
1520 HEH T ET 15 19 17 11 12 19 21 23 20 16
1530 HEHNFTHET 12 4 13 1 6 6 8 6 16 11
1540 K{EFHT 14 10 9 19 13 9 16 17 12 25
9999 HEMNE X &t 56 52 63 68 44 49 63 64 68 82
2010 EEERHAT 6 6 5 5 2 4 3 6 4 1
2020 £ EFGHT 5 8 8 9 7 12 6 5 8 6
2030 L0AT 0 0 0 0 1 0 0 0 0 3
2040 MET—T B 3 5 12 4 4 5 5 4 5 6
2050 ;MET—T H 9 3 10 2 3 2 3 4 3 5
2060 5T 0 0 2 0 1 1 1 2 2 0
2070 F=xET—TH 2 6 6 8 4 4 10 8 10 5
2080 FRETZTH 8 3 4 5 4 4 9 2 3 2
2090 i HT 40 33 51 39 33 43 53 43 40 43
2100 FrdLHT 1 5 4 6 6 6 4 5 7 5
2110 HEHIFRET—T B 8 9 9 11 9 6 7 5 9 6
2120 HEHIFRBET =T B 3 7 7 8 11 5 3 3 10 12
9999 £ ERXEt 85 85 118 97 85 92 104 87 101 94
2510 FUEHET 63 37 57 40 42 58 55 51 73 47
2520 sKAEHT 40 34 39 34 3 32 36 39 33 40
2530 S/MNERHET 10 12 7 9 7 15 8 17 8 8
2540 FHi5HT 7 12 13 9 15 14 16 14 11 12
2550 jHHT 9 9 5 6 7 2 5 8 9 9
2560 = ST 16 28 31 21 17 17 26 14 37 23
2570 KEH/T 2 0 1 1 1 0 2 2 3 2
9999 MERXET 147 132 153 120 124 138 148 145 174 141
3010 K#THT 26 22 22 21 28 22 25 19 26 20
3020 L IHT 32 25 29 21 24 24 18 20 24 20
3030 L EFHT 34 21 28 28 19 18 23 21 13 20
3040 T FE LHT 5 0 3 6 1 3 2 5 4 4
3050 R AT 49 48 67 41 54 39 67 58 51 51
3060 THES AT 9 13 14 11 14 11 15 14 18 13
3070 HEAERT 11 13 15 11 8 7 9 19 14 9
3080 HHHHT 14 7 5 12 8 8 10 9 8 7
3090 H R ERHET 14 7 8 7 7 12 12 7 9 3
3100 H R FEAT 20 11 11 15 15 10 14 10 13 10
3110 HpALHT 7 11 14 15 11 12 14 16 22 13
9999 /\ FER X5t 221 178 216 188 189 166 209 198 202 170
3510 2R LHT 6 4 6 10 11 4 8 7 9 2
3520 2[R ARHT 5 8 10 7 7 8 8 8 10 11
3530 E[RTHT 27 14 29 26 26 33 21 26 31 25
3540 & R AKHT 8 6 15 11 8 14 17 1 11 4
3550 A EFHT 20 33 16 21 16 23 27 20 32 26
3560 &= FERAT 6 9 3 1 7 8 17 8 5 9
3570 & TG 32 15 16 17 13 19 15 18 29 19
3580 FLLIFTHT 14 12 10 17 10 15 10 9 15 20
3590 jEHT 0 0 0 0 1 0 1 0 0 0
9999 = HKXET 118 101 105 110 99 124 124 107 142 116
4010 411 NET 6 7 5 4 11 5 6 5 7 10
4020 {EESHT 1 2 3 1 0 4 1 1 1 1
4030 1ZHT 8 3 7 7 8 7 6 8 7 5
4040 SHEAHT 5 7 7 5 6 3 8 4 5 2
4050 7K EHT 12 7 10 9 19 14 15 1 14 14
4060 B35 HHET 9 10 7 5 5 5 4 7 9 4
4070 dt[RHET 8 1 5 7 8 8 5 4 4 10



4080 =;TI;HAMT 3
4090 R e AT 6
4100 FFEFOET 3
4110 JbFFnmT 6
9999 MK &t 67
4510 AR EE—ZFHET 19
4520 EREE — FEET

4530 AREE=ZHT
4540 EREE Y FEHET
4550 EREEFH FEHT
4560 AR /NEET
4570 ERE-LFHEET
4580 EREE)\ZEHT
4590 EREE N FEHT
4600 EREE-+FHET
4610 BEREE+—ZFHT
4620 EREE+ —FEHET
9999 ARERXET
5010 RBF0 A HEET
5020 RBFNBAEAHET
5030 REFORE]{ZHT
9999 RBFNIX &t
5510 wh R HT

5520 = HhET

5530 74 AT

5540 T EEHT

5550 EFHT

9999 =X &t
6010 FEIRT/MER
6020 [EMT

6030 FEETA I
6040 ERZEIFMT
6050 JI|AMBTE
6060 )| HETTY
9999 FEERXET
6510 B &= A#HGAET
6520 HZ= A KITLHET
6530 B E A HHET
6540 HZ&EALLUTHT
6550 B &AM 2 RHET
6560 HZEAEILHT
6570 B E A RIHET
6580 HZEAERT
6590 HZEARHAT
6600 HZEAGHT
6610 HEA LFGHET
6620 HZE A FGHET
6630 HZE AT FGHET
6640 B EA EitiHlT
6650 B ZASET
6660 HZAERHT
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ABET (kP 2—F {THRHET (KFE) % 50 5 5 5 5
8011 IRAHETFGHERLY
8012 IRAETFHERA
8013 IR AHET AR (&
8021 RAHTIEKLY
8022 RAHTEKA
8023 R AHETIEKIE
8031 RABTH ALY
8032 AHTH AR A
8033 JABTH AL
8041 R AHTHLIFL
8042 IR AHTELIRA
8043 IR AHT LT &
8044 IR AHTHGIFIZ
8045 IR AHTELIFIF
8050 IRAHTIRA
8060 IR AHTFTHA
8070 IRAHTEER
8080 IR AHT kA
8090 I AHT HEE
8100 JAHETH /IR
8110 YR AHT)II5k
8120 Y AHTEEM:
8130 RAHTH L
8140 IRAHTEFRT
8150 IRAHTEF XK L
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9999 AKX EH 34 41 47 36 43 48 55 67 51

9010 FTHTAKZEH 11 17 21 17 14 22 10 14 21

9020 FTHTHE E AL 10 7 10 12 14 6 11 8 14

9030 FTHT#H&H 286 22 26 30 32 27 3 31 30 31
9040 FTHTHESH 41 28 35 40 28 37 38 44 46 38
9999 FTHREXEH 90 74 92 99 88 92 90 97 111 99
9110 SERT T HIE 14 11 10 21 17 12 11 7 1 9
9120 $ZETH L 6 9 7 6 8 5 3 3 7 6
9130 RETH E 6 6 1 2 7 5 6 4 7 7
9140 SERT Tt 9 10 15 8 12 15 18 16 12 21
9150 $ERT L 45 14 11 8 11 9 17 22 16 12 9
9160 SRETEERT 24 24 17 17 15 16 20 13 22 14
9170 $ERTNH 17 22 26 28 19 32 29 27 29 23
9180 #RETEE 20 14 17 11 13 18 12 15 21 24
9190 FERTZ O 8 5 4 3 3 3 6 3 8 6
9200 £=HT FF U 4 7 7 3 5 11 14 6 9 9
9210 $ERT=H 9 13 3 11 7 5 17 18 10 9
9220 $RHTIEH 12 12 15 15 21 12 14 12 14 13
9230 SEHET B M 20 14 15 20 14 19 18 25 24 22
9240 $RATIEE 10 4 10 11 11 7 7 13 8 13
9250 FEETALFrith 6 9 10 17 20 13 18 10 14 21
9999 FERXET 179 171 165 184 181 190 215 188 208 206
9310 EFFHTAR 6 6 3 2 9 10 12 6 6 8
9320 HFZHATIL 8 6 7 10 8 7 6 8 9 10
9330 H[GHET/NE 0 5 3 7 1 5 6 6 8 7
9340 E[5HTE 12 12 17 17 13 12 11 7 10 9
9999 RFRXEH 26 29 30 36 31 34 35 27 33 34
9410 RET T & 11 12 15 7 8 15 9 11 13 16
9420 RETHHE 3 4 4 7 5 5 8 3 4 1
9430 RETER 5 3 3 6 3 4 3 5 4 3
9440 RETAEF 0 1 0 0 2 1 0 0 0 0
9450 RETHE[R 0 0 2 0 1 1 0 0 2 0
9460 RET{—_HE 0 2 0 0 0 1 1 4 0 1
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EET k) 2—F {THHE] (KF) & 90 o1 52 53 54 55

9470 RETER 0 0 0 0 1 0
9480 RETHER 3 2 3 0 5 0
9999 RIXXEt 22 24 27 20 25 27
99999 &t 1563 1381 1646 1564 1507 1643
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TIET (KF) 2—F TIRAT (KF) 4 60 61 62 63 64 65 66 67 68 69
10 HHHT 4 3 1 7 2 7 7 7 6 4
20 fE&ELHT 3 5 5 5 5 6 5 8 4 3
30 AT 4 6 1 7 9 3 5 10 10 10
40 LRHET 2 4 6 7 3 2 4 5 7 4
50 AET—TH 11 7 8 7 9 1 13 13 15 15
60 AET=TH 2 6 4 3 8 5 8 3 15 5
70 RET=TH 6 3 6 10 8 4 14 10 13 10
80 ¥AT IR AT 2 4 1 3 0 1 0 3 1 1
90 FENIIRET 5 6 8 7 5 7 3 13 10 8

100 At FLET 4 4 7 7 2 5 4 5 4
110 2T HT 41 30 34 32 39 28 24 41 36 32
120 #iT A<HT 5 7 3 2 9 5 7 8 4 7
130 ¥ FHT 10 12 7 4 12 12 13 15 13 11
140 B [EET 0 0 0 0 0 0 0 0 0 0
150 T FFHET 3 8 6 6 11 14 7 9 5 10
9999 R IGHX &t 102 105 97 107 122 110 114 147 144 124
510 AETEUT B 5 21 12 16 10 23 16 13 13 18
520 HpEEMT 5 2 1 3 1 4 6 3 5 4
530 /\t&EHT 4 9 4 9 5 8 10 4 13 6
540 EEHT 6 9 7 9 15 6 10 12 15 22
550 FrithET 8 14 12 12 8 13 6 11 12 15
560 = T 3 4 2 4 2 2 1 1 1 2
570 ZEEHET 1 5 1 4 2 2 2 3 2 4
580 #rEAHET 6 3 5 2 2 8 9 3 3 2
590 #EHT 0 2 0 1 3 3 3 2 4 1
600 ZE7RHT 20 26 30 23 30 27 27 23 21 14
610 ZHET 5 9 6 5 6 5 8 7 7 5
620 FAET—TH 0 0 0 0 0 0 0 0 0 0
9999 J/\ KXt 63 104 80 88 84 101 98 82 96 93
1010 3R HHT 2 5 9 5 2 2 14 9 11 3
1020 Lt K HT 7 15 8 15 10 8 14 10 16 17
1030 A S HT 9 4 12 5 10 6 10 9 10 7
1040 75 FHT 13 21 16 11 10 16 16 11 17 12
1050 & HHET 16 21 21 9 18 18 15 19 21 22
1060 F_EHT 19 10 16 10 10 7 17 15 13 17
1070 47 ET 16 9 17 15 14 14 14 14 17 16
1080 & HHET 6 14 8 11 12 10 9 8 10 8
1090 BiEHT 10 15 21 22 25 29 25 27 22 9
1100 £ BiEHT 16 9 17 17 25 9 20 19 19 23
1110 f21EET 4 6 6 4 3 2 1 6 3 3
1120 $&1E JTHT 5 2 2 3 2 1 4 4 2 3
1130 +5:HT 1 0 2 1 1 0 1 1 5 3
1140 FkJRHET 0 0 0 1 0 2 0 0 0 0
1150 #FRET—T B 3 7 5 5 4 6 9 9 12 4
1160 F/RET—T B 8 12 4 7 8 5 9 7 14 8
1170 ;F/KHET 6 1 2 6 3 3 5 7 8 6
1180 BEALHET 2 4 8 4 6 6 4 17 7 5
1190 1 F AHT 6 8 2 4 9 7 5 9 12 6
1200 XFHEI—TH 2 3 4 3 6 4 3 4 4 5
1210 XFHEIZTH 9 6 3 2 5 4 10 9 10 7
1220 ¥rHET 1 8 4 3 5 5 3 0 5 9
1230 #xHET 5 6 2 5 6 3 3 11 5 5
1240 EEHT 1 5 5 0 2 4 1 5 6 2
1250 fEEIRT 3 3 5 3 3 5 2 4 2 9
1260 fEH & 4 2 2 3 1 1 0 2 2 1
1270 EEHT 4 5 2 3 4 3 3 4 6 4
1280 FRAHET 3 7 8 4 5 8 5 4 4 5
1290 $RHET 6 5 5 3 6 5 2 3 11 5
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(H29.7.31 IR JATERET & (K=F) B F Al A O 5 (55

AT k) 2—F {THHE] (KF) & 60 61 62 63 64 65 66 67 68 69

1300 % ZEHT 1 3 4 1 4 1 6 3 5 7
1310 RLHET 0 5 4 1 0 3 2 0 3 5
9999 XHEMZX &t 188 221 224 186 219 197 232 250 282 236
1510 }EHD L BT 16 21 17 21 24 12 34 27 20 30
1520 HEH T ET 20 23 26 24 25 19 29 36 25 33
1530 HEHNFTHET 15 8 13 12 11 9 13 8 12 12
1540 K{EFHT 14 17 21 19 20 22 19 20 23 14
9999 HEMNE X &t 65 69 77 76 80 62 95 91 80 89
2010 EEERHAT 5 6 2 3 3 4 5 5 11 11
2020 £ EFGHT 7 4 8 4 11 8 6 6 3 7
2030 L0AT 4 0 1 0 0 0 1 2 5 2
2040 MET—T B 7 4 3 4 1 8 7 7 9 12
2050 ;MET—T H 3 7 6 7 8 7 6 11 5 5
2060 5T 3 3 2 3 1 0 2 1 3 3
2070 F=xET—TH 6 9 7 7 6 8 11 8 9 6
2080 FRETZTH 8 6 4 6 6 6 5 6 10 11
2090 TigHT 58 62 61 55 70 65 51 83 64 77
2100 FrdLHT 4 9 11 7 11 6 4 8 11 4
2110 HEHIFRET—T B 7 3 9 6 13 10 12 5 11 5
2120 HEHIFRBET =T B 10 8 14 11 7 9 14 7 7 9
9999 £ ERXEt 122 121 128 113 137 131 124 149 148 152
2510 FUEHET 50 42 56 53 47 59 56 66 75 76
2520 sKAEHT 41 41 28 47 27 40 44 44 41 42
2530 =/NRHET 8 9 15 13 18 14 9 12 11 16
2540 FHi5HT 16 12 11 12 23 23 12 21 18 22
2550 ;HhHET 5 10 10 7 6 10 10 4 8 5
2560 = ST 28 32 34 26 26 29 35 35 51 33
2570 K EHT 3 1 2 2 5 4 3 5 8 4
9999 MERXET 151 147 156 160 152 179 169 187 212 198
3010 K#THT 26 17 31 23 29 42 31 43 34 34
3020 L IHT 20 26 20 30 30 35 25 34 35 32
3030 L EFHT 27 15 29 22 17 25 20 171 23 24
3040 HE LET 3 5 4 6 6 8 0 3 6 4
3050 TR T 61 48 66 51 51 52 57 74 71 57
3060 THES AT 11 12 15 10 18 16 11 25 17 11
3070 HEAERT 18 18 14 10 20 15 22 20 15 14
3080 HHHHT 7 7 8 10 7 7 11 15 16 12
3090 A ERHAT 13 2 10 4 11 7 16 10 13 9
3100 H R FEAT 15 18 14 17 18 10 13 13 11 10
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